
2. Schulstufe – Mathematik  Plus und minus bis 100 o. ZÜ 

CK 

Rechentraining  
plus und minus bis 100 ohne Zehnerüberschreitung

 

22 - 1 = 28 - 2 = 12 + 4 =

14 + 3 = 49 + 1 = 14 - 2 =

48 + 2 = 81 + 9 = 65 - 3 =

44 + 4 = 68 + 2 = 61 + 6 =

91 + 3 = 44 + 6 = 69 + 1 =

77 - 5 = 98 + 2 = 71 + 1 =

23 - 1 = 75 + 2 = 36 + 1 =

22 + 4 = 61 - 1 = 29 - 2 =

79 - 8 = 57 + 3 = 82 - 1 =

39 - 8 = 49 - 9 = 48 - 5 =

27 - 4 = 42 + 8 = 16 + 1 =

32 + 6 = 71 - 1 = 76 - 2 =

34 + 1 = 51 + 8 = 98 - 1 =

33 + 5 = 68 + 1 = 47 - 6 =

42 - 1 = 37 - 2 = 94 + 3 =


